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CLASS : 12th (Sr. Secondary) Code No. 4329
Series : SS-M/2019

Roll No. SET : A
LGRS RCE G

CHEMISTRY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70
° FUT _TT FV A [ 3G FTGH F FRT T 16 T
797 21 &1

Please ‘make sure that the printed pages in this
question paper-are 16 in number and. it contains 21
questions:

» o707 H qIfen &1 @ I 79 T #e T T He F
B FY-gicenl & JEF- T o]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYI TIT FH FA [0GT JE@ 7 & Yoo, T H BHH
ST [

Before beginning to answer a question, its Serial

Number must be written.
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(2) 4329/(Set : A)
o FUv-gikrml # &5 4 @l i1/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FT-YhdHE % SaRF Fg g e T A o
STFEAFE & [ ST forar Fav 7 e
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the uwritten
answer.

o gereff ST T To FT-9F UT S7gsT i@

Candidates must write their Roll Number on the
question paper.

o U J97] F IA 37 @ G4 T8 GrARad FT o [ JeT-0H
g7 g 78 & GhEr % IUrT 56 T FwE A aar
@hewre TEl [ A9

Before -answering the question, -ensure that you
have been supplied the correct and -complete
question paper, no claim in this regard, will be
entertained after examination.

A a5 : -

(i) G 7T a8

(i) 597 7@ 1 7 G5E (i - xiv) TFEGTS 597 & qI9%
Je7 1 % F &1 [RAGER 37 Je7 & Fav
g

(iii) 797 G&r 2 @ 11 T% Sy FTIT 597 &1 JA%
97 2 SfF F 8 FAF FIT F ITC TTHT 30
g=t 7 oy
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(3) 4329/(Set : A)

(iv) 597 7& 12 @ 18 7% T IT0T 97 &1 9%
797 3 GH F 81 F9F §9T F TV TTHT 40
gt 7 &y

(v) F97 TE 19 § 21 7% HY FTGT 597 81 I9%
97 5 FH I 8 FAF FIT F FAT TTHT 70
gt 7 dformy

i) F97-99 7 G77 @7 § FF faweq 78 & a5
FH ard gt e FTHT FIT F TaRE FIT FaIT
4 a7 & 9 gel 7 @ o paT @ & g9
T 81

General Instructions : -
(i)  All questions are compulsory.

(ii). Question Number 1 consists of Fourteen (i-xiv)
objective. type questions carrying 1 mark
each. “Answer these questions as per
instructions.

(iii) Question Numbers 2 to 11 are very short
answer . type questions of 2 marks each.
Answer these in about 30 words each.

(iv) Question Numbers 12 to 18 are short answer
type questions of 3 marks each. Answer
these in about 40 words each.

(v) Question Numbers 19 to 21 are long answer
type questions of 5 marks each. Answer

these in about 70 words each.
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(4) 4329/(Set : A)

(vi) There is no over all choice. However, internal
choice is given in all long answer type
questions of 5 marks each. You have to
attempt only one of the given choice in such
questions.

[ aEgiFss 99 |
[ Objective Type Questions ]
g agfahedid 9T & @8 fdeed gadt Ini-
giae ¥ fofeT
Choose the correct option of the following

multiple choice questions and write in answer-
book :

1./ (). SN &l fégaR Fr o & ? 1
(A) - TRE F 0.2 § 0.4 5FT 911 &9 Aq@ AR
Sl H Higdl
(B) 2-3% (CH3COOH g faeas
(€) 2<8% SRR Ushlera-ora H fHaer
(D) ST & § Py T

What is tincture of iodine ?

(A) 0.2 to 0.4 ppm aqueous solution of
chlorine

(B) 2-3% aqueous solution of CH;COOH

(C) 2-3% solution of iodine in alcohol-
water

(D) None of the above
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(5) 4329/(Set : A)
(i) [NiCly]?~ & Ni &1 TebXor 1 & ? 1
(A) sp’d (B) dsp?
(C) sp°d? (D) sp°
What is hybridization of Ni in [NiCl,]%”?
(A) sp’d (B) dsp
(C) sp°d? (D) sp°
(i) Foor ANGEN & BN H-9 FECTH ANTE ST
S g 7 1

(A) UwhlRl (B) BB
(C) BiTehe (D)~ TN

Which of the following organic compounds

are formed by Wurtz reaction ?
(A) Alcohols (B) Hydrocarbons
(C) Haloalkanes (D) Haloarenes
(iv) TIEHIE M H A e St § 7 1
(A) dfdERTEs  (B) STEHHUES
(€ AEETE (D) WA
Glycogen is an example of :
(A) Polysaccharide (B) Disaccharide

(C) Monosaccharide(D) Protein
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(6) 4329/(Set : A)
(v) e | & ogEr e A § feeel S
& Taies § 1
A) AT (B) Ba?"
(C) Nat (D) IUGH F | &5 T

According to Hardy-Schulze rule, which of
the following has highest flocculating

power ?
A) AT (B) Ba®*
(C) Na* (D) None of the above

Fr=ifiad gs+i & ST g% a1 & ae- | &g

Answer the following questions in one or two

sentences :

(vi) ZnS T8 TR @ LiEFRd ay-auid ® 2 1

What type of stoichiometric defect is shown

by ZnS ?

(vii) TEET-6 Pl Thaish b5 Pl GLAAT Q| 1
Give structure of monomer unit of Nylon-6.

(viii) U=TZE §¥ | ST ¥ GHIA § 7 1
What do you mean by Peptide linkage ?

(ix) Rerearedl o & qRwme i) 1

Define Azeotrope mixture.
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(7) 4329/(Set : A)
(x) =1 89 % RIg e aeieer fafag 1
Sn(s)| Sn* || H' | Hy(g)(lbar)| Pt(s).
Write the Nernst equation for following cell :
Sn(s)| Sn*" || H* | Hy(g)(lbar)| Pt(s)
(xi) =1 971 Reics | SAfiskar Hife & B= #HIFTT : 1
k= 3.5x10"Lmol 's™?

Identify the reaction order from the

following rate constant :
k=3.5x10"Lmol 's™*
(xii) Cl, @I Ul & & SAHEHAT i 1

Write the reaction.of Cl, with water.
(xiii) (p) O,N —CgHy — OCHj &l IUPAC A fafaw 1
Write [UPAC name of (p) O,N = CgH,; —OCH;.
(xiv) TTZFRNTUAN ARl T a8 1

Draw structure of cyclopropanone oxime.

[ SficreTg 949 99 ]

[ Very Short Answer Type Questions ]

2. I Bl 9 & 99 B TN 1.25 g ml R J I9H
92 g Nat a9 Ui fhal o & Sufed &, @ 2fia &
Nat 399 &I Bided 5d i 2
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(8) 4329/(Set : A)

If the density of some lake water is 1.25 g ml™
and contains 92 g of Nat ions per Kg of water,

calculate the molality of Nat ions in the lake.

3. AR ©F gifcad aX H 0.5 WX #4102 6 & [WU
yeted B 8, @ aR § | fhee goee Fared W 7 2
If a current of 0.5 ampere flows through a
metallic wire for 2 hours, then how many

electrons would flow through the wire ?

4. IUYH IR A4 BU ORHH Ud RUMCHH AR
I T FHifog| 2
Differentiate between- cationic 'and anionic

detergents giving suitable examples:

5. TEIEAIET. T (I]) F AR HIVTC AR & T
4o 2

Explain the term copolymerization and give two

examples.
6. UM & fapdieeer & o9 T T & 7 69 A @
O $9 g Bid § 2

What do you mean by denaturation of a

protein ? How does it affect properties of protein ?
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(9) 4329/(Set : A)
7. T @R & 9 GOEN faage S| | ofa:atd
AT YRR &l ol TR 2

It is safe to inject solutions isotonic with blood

plasma intravenously. Explain.

8. Y% A H THHA & 30 gL TAS &R A8 W B
el affRand ferfaa) 2

While giving labelled diagram of dry cell write

reactions taking place at cathode and anode.

9. IR & Il H TAREH AT IO B HH FaRid
HXl &, F 7 2

Why does nitrogen show catenation properties

less than phosphorus ?

10. TEU TR T Foaieml Sioeara sAfeshamett o e
ud Y FES Bt B R ot OFRiN TEdew &
79 AET # AN adl 81 BT SRyl 2

Although amino group is o- and p-directing in
aromatic electrophilic substitution reactions,
aniline on nitration gives a substantial amount
of m-nitroaniline. Give reason.

4329/(Set : A) P.T.O.

Previous Pathshala

http://www.bsehonline.com/


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com

http://www.bsehonline.com/

(10) 4329/(Set : A)
11. EHHM SHMES AEh W TF g feael fofew 2

Write a short note on Hofmann's bromamide

reaction.

[ @ ST 99 |

[ Short Answer Type Questions ]

12. (a) CEIERIM-AFIEET AHRET § T & a9Ed
g ? 30 UH IS § HHIR 2

What is meant by Hydroboration-oxidation

reaction ? Illustrate it with an example.

) PR NS | e | e B ke £ B e 1 o G
1y (ENACTIE I 1

Predict-the major product of acid catalysed

dehydration of 1-methylcyclohexanol.

13. G9ERY 1% [Co(NHj3)s|°" & oAldR® &% d%hd o
el [Ni(VH3)e] 2" T a18d Heeh 6% ol 3
Explain [Co(NH3)6]3+ is an inner orbital
complex whereas [Ni(NH3)6]2+ is an outer

orbital complex.
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(11) 4329/(Set : A)

14. IRE el an FEfiad 98 @ aReitg S
1hx2=3

(a) F-%TQF,
(b) HiriEgwh|

Define the following with suitable examples :
(a) F-centres,

(b) Antiferromagnetism.

15. 39 IS & G H F=1 Bl §9eE 0 1%6x2=3
(a) @R,
(b) Lo
Explain the following "in context of solid
catalysts :
(@) Activity,
(b) Selectivity.

16. (a) Tpel SRR & 500 K @& 700 K 9 a7 Redi®

HAM: 0.02 S U .0.07 SL-B Ea # TOFT
HIoTq 2

The rate constantsof a reaction at 500 K

and 700 K are 0.02 S and 0.07 S
respectively. Calculate the value of Ea.

(b) fp oRRfcRl & uw fgeroias sifvfear TemEs
W 9 9 P B AIERAT B TE FIBRX Bl
g7 1

Under what condition a bimolecular
reaction behaves kinetically first order
reaction ?
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(12) 4329/(Set : A)

17. AR ER1 SIS T & STUel UEEe 4 di &
forepeor S1feren e =t B 7 3

Why is the extraction of copper from pyrites
more difficult than that from its oxide ore
through reduction ?

18. AN FIH Th Sudei AUEH T98 © [y @t WAks
TAFSRN Sfcremoe stfvifpamett & ottt qum Y R
g, ;7 3

Although chlorine is an electron withdrawing
group, yet it is ortho-para directing in electro-
philic aromatic substitution reactions, why ?

[ & SO9 99 ]

[ Long Answer Type Questions ]

19. (a) SAEHH TUETT & AT Jred-2-871 T Ye-3-
AN H 8 g9 B0 7 2

How will you distinguish between Pentan-2-
one and Pentan-3-one with the help of
Iodoform test ?

(b) f=foRad gRads o 38 A 7 1x3=3

How will you bring about following
conversions ?

(i) e T ¥ m-TEgIS JRr|

Benzoic acid to m-Nitrobenzyl alcohol.
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(13) 4329/(Set : A)
(i) IfcseEE § SNHEEI

Benzaldehyde to Benzophenone

(iii) SNEH ST 9 IIHIES|

Benzoic acid to Benzamide.

ST
OR
frifafaa o (erah) &1 aofe &Y 2Yex2=5
(@) TR FEI
(b)  foemaiieaasl

Describe the following :
(@) Aldol condensation

(b)  Decarboxylation

20. (a) fr=ifEad 9Q@% w@9=9 & "@FF @ i &

HIAR HEl A § Eied S 1x3=3

(i) E, Ch, Bn, L - 9§99 @ w9 &
o4 A HI

(i) HF, HCI, HBr, HI- 377 9 & 9ed %A
e

(i) NHs, PHs, AsHs, SbHs, BiH; — &%
amed & ged %A A
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(14) 4329/(Set : A)

Arrange the following in the order of

property indicated for each set :

(i) F2, Cb, Br,, L - Increasing bond
dissociation enthalpy.

(i) HF, HCl, HBr, HI - Decreasing acid
strength.

(iij NHs, PHs, AsHs, SbH3, BiH3 -
Decreasing base strength.

(b) TS WHH SR H,S0, % 9@ & 3hs & &
for orasas qRREicET S i 2

Write the conditions to maximize the yield

of H,SO, by contact process.

YT
OR
(o) Frfoiea @ d@tamr dfm - 1x2=2
(i) XeFg
(ii) XeOF,
Draw the structure of following :
i) XeFg
(ii) XeOF,

4329/(Set : A)

Previous Pathshala

http://www.bsehonline.com/


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com

http://www.bsehonline.com/

(15) 4329/(Set : A)
(b) ST TN & T SR W69 A IO HiC 3

Describe the Haber process for

manufacture of ammonia.

21. (a) +3 SifeAHT e | SifeRiipd 8 & HaH H
Mn?* % A Fe?* & AN &1 Jom § e
ol | 7 ? 2

Why are Mn?" compounds more stable

than Fe’' towards oxidation to their +3

state.

(b)  SFamsht A 1 .7 39 T & Al Hehor
gt & Y el JER & S| @b 7 2

What are interstitial compounds ? Why are
such compounds well-known for transition

metals ?

(©) Pm>" % soaeie fa=re faRau) 1

Write electronic configuration of Pm3".
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(16) 4329/(Set : A)

AYAT
OR

(@) oT<IT WM WiTe & = & ary orfifea &
fow et et fofau - 1x3=3

(i) oifrRfer® o,

(i) H,S,

(iii) HPHIZS ST

Write ionic equations for the reaction of

acidified = potassium permanganate with

following :
(i)  Oxalic acid,
(ii) " H,S,
(iii) Sulphite ion.
(b) fFHTST i ARSI 1 av Hifom 2

Describe the reactivity of actinoids.
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